100F =B R LS IR IRE

=& F4H

‘RoE ] #e | B | J0AR | J0AR | &% | B [10+X
65 mrmalsEd 2 9C 328 332 660 1

66 mrmalsEd TS 10C 324 326 650 2

67 mmalsEd CeYE- 11C 325 317 642 3

ol EihvA NN =EE 5C 312 324 636 4

74 HTEAH O = 0 = 5 i 17C 324 309 633 5

9 Gihva:iEh=1—N MR 45 6A 308 316 624 6

63 SIAVE ST S EE 7C 303 314 617 7

21 SISk S L B 15A 295 319 614 8

2 SimELUSPA | B_EH 2A 315 298 613 9

62 BT e fElals 6C 300 305 605 10

60 FibhiBE S fEE1als 4C 297 306 603 11 11
58 FibhBES MER 2C 300 303 603 12 11
71 Bl EmEE RS2 15C 293 309 602 13

57 L mRES R, | 1C 299 302 601 14 | 14
45 MIREEY S EEK 9B 299 302 601 15 9
55 MEZXES sR/O0A 18B 306 294 600 16

22 CAvASE S P& = 16A 297 300 597 17

1 sitmELUSPA | =E 1A 283 312 595 18 12
53 MEZXES N EES 16B 297 298 595 19 8
3 SitmELUSPA | REZE 3A 294 293 587 20

4 sitmEWLUSPA | BiFE 4A 293 293 586 21

73 MO S5 B 16C 294 286 580 22

75 MmN s | Bas | 18C 303 275 578 23

76 MR OS5 =35 19C 291 285 576 24

41 SEmAES lEE=n 6B 294 281 575 25

10 Bl EEEE T == 7A 295 269 564 26 5
18 EvEEs T | =Ek | 13A 271 203 564 27 | 4
25 SfmpEsH 1y g3 17A 284 273 557 28

46 FIREEY S MR 10B 270 277 547 29

34 sEEmEE S 2= 2B 260 284 544 30 12
16 By PERE | BlE | 1IA 267 277 544 31 8
47 SEDmEST | =AW | 118 264 277 541 32

59 FibhiBES ME U 3C 266 274 540 33

69 CIAVASIEEREE S RER AT 13C 263 276 539 34

26 SfmpEsH RIS 18A 260 273 533 35

43 SEmAES =Tk 8B 262 270 532 36

29 B 17 Bl L T =E61Y 19A 272 256 528 37

42 SEmAES FEHE 7B 266 259 525 38

70 CIAVASIEEREE S B 14C 247 277 524 39

19 B iHEES T 5 3k 14A 270 249 519 40

49 CEREE A E LS 13B 255 263 518 41

50 CEREE A BRAR 2 14B 246 270 516 42

35 =slhESS 22z 3B 260 253 513 43

51 CEREE A MBRAF 15B 245 264 509 44

38 Mithm=—gg5% TER 5B 250 254 504 45

17 BviHEES T B(E15 12A 251 247 498 46

5 simELSPB EEEay 5A 252 232 484 47

HHE MR GaRa




100F =B R LS IR IRE

=& F4H
‘RoE g} #e | By | J0AR | J0AR | &% | B [10+X
13 B Y7 PR ={ER 8A 252 224 476 48
54 MEZXES 2A119 17B 227 236 463 49
56 MEZXES PEE B IN 19B 215 240 455 50
14 B 17 i = kB 9A 200 240 440 51
33 stmErE 5T Ei= 1B 223 211 434 52
15 B 17 i = R 10A 202 205 407 53
43 SEDREST | BnE | 128 170 198 3638 54
37 mith=—&5% =0 1% 4B 218 147 365 55
64 BT S H=B 8C 150 157 307 56
63 FmELsT | BWE | 12C 0 0 0 57

HHE MR GaRa




